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Note : Attempt all questions.
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Instruction : (A) Question No. 1 is an objective type question. It has three
parts—Part (A), Part (B) and Part (C). Part (A) has Multiple
choice type questions, Part (B) has Match the following and
Part (C) has Fill in the blanks. Each part has 5 questions.
Each question carries 1 mark.

-1 (@Ue-3) TRl faehey I fafEe : [1x5=5]
(Part-A) Choose and write the correct option :
() HYF : I TR GEEE T |

0T : TSI 9 e SIU a1 T&a: 3T Sl %l

(37) Hact HUA T
(=) e 3R wro S Te §
(¥) hael HRU HE
(3) A IR HR1 A TTerd §
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Statement : Forests are renewable resource.
Reason : Forests regenerate in felled area.
(a) Only the statement is correct
(b) Both statement and reason are correct
(c) Only the reason is correct

(d) Both statement and reason are wrong

(if) STHATRTONT GETEA

(&) S (a) oY
(7)) = (%) hraren
Non-renewable resource is :

(a) water (b) air
(c) forest (d) coal

(iii) Torma @re o6t ¥ forg wEe 1 Scared Wed 31fie ag1 § ?

(&7) M (&) =EOR
(§) = (9) T
The production of which crop has increased the most over the
last 60 years?
(a) Paddy (b) Jowar
(c) Bajra (d) Wheat
(iv) HETd wrg o e T8 ©
(37) o (&) wehRl HiHfd
() = (7) 3 & |t
This is not a part of institutional credit :
(a) Bank (b) Cooperative Society
(c) Trader (d) All of these
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(v) T % it ISR Y foman i €
(a7) 50 feq
(&) 100 fe
(7 150 T
(%) 200 fe

The number of days of employment guaranteed under
MGNREGA are :

(a) 50 days
(b) 100 days
(c) 150 days

(d) 200 days
yg-1 (@ue-a ) 3fua gy Sifeu [1x5=5]

(%) (&)

(i)  SfaTs - (8 SM

(if) TS SHEAFTE Few - (9) feew

(iif) TR =1 &l BieAT - (9) ITRHIEE

(iv) ToIhTd <A1 =eh - (3) 1917

(v) ST - (3 T

(Part-B) Match the following :
(A) (B)
(/) Nazism - (a) Japan

(if) Gujarat Industrial Region (b) Hitler

(iii) Abdication of the Czar (¢) Ahmedabad

(d) 1917

(v) Imperialist - (e) Education

(iv) Indicator of development

S-3A P.T.O.
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ya-1  (@ue-u) e wEl &1 gfd S [1x5=5]

(Part-C) Fill in the blanks :
() ——gHiH AT
____1s a country of islands.
(if) TETEl Y g § SR —— o T TST W R |
Population-wise, Nigeria is the largest country in .
(iii) TSTfaeh g1 —— 3Tenfia Sfo=nfies Fe g
A political party is an officially  organization.
(iv) WRA H —— AaQH 1 TR 7 |
India has  right to vote.
(v) HH TE T HT T — F g

UNO was established in .

T : () T HEE 2 H 6 T 3ifder] ST W | YIH FH W
2 3k 3meifed B 1 (S i 3TfeehdH Iee-HIHT 30 32 ®)

Instruction : (B) Question Nos. 2 to 6 are very short answer type questions.
Each question carries 2 marks. (Maximum word-limit of

answer is 30 words)

yyI-2 oo™ 1 91O % YW Hehdsh S-S H € 2 [2]

What are the main indices to measure development?

U9-3  HE 9 AN © ? [2]

What is the purpose of credit ?

S-3A
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Y9A-4 TR SHA 4G ¥ Sia S, g R SHR FA1 GHE TSl 2

If Germany had won the war, what would be its effect on the

world?

Y9A-5  qidl o < S9E fafan |
Write two uses of copper.
TH-6  Tdgs W T A TEHS © 2

What do you mean by Cold War?

T : (F) T HHE 7 ¥ 10 I Afaery I T € | THE T W
3 3feh STreifed § 1 (ST 1 Tfhdd IE-HHT 50 32 ©)

Instruction : (C) Question Nos. 7 to 10 are very short answer type questions.
Each question carries 3 marks. (Maximum word-limit of

answer is 50 words)

yya-7  Tohe <91 H felaE %9 € W @ g 2

What will happen in a country if its sex ratio is low?

Y9-8 Touam ok Tedsl sTie § YfH GUR k1 =1 HE e o1 ?

What was the importance of land reform in Vietnam’s Freedom

Movement?

Y99-9 {1 1 ATYRR & Faifien @y fafan

Write the main benefits of the right to information.

T9A-10  HEX Ul fohdl shed © 2 THEmsT |

What is a muster roll ? Explain.

2]

2]

2]

[3]

[3]

[3]

[3]
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ot : (T) YT HAG 11 W 14 TF oY ST Y9 & | T U9 B Tk
fahed § | T8 U9 T 4 3k Teifed € | (ST i 3ifereraq
- 75 T ¥)

Instruction : (D) Question Nos. 11 to 14 are short answer type questions.
Each question has internal option. Each question carries

4 marks. (Maximum word-limit of answer is 75 words)

Yg-11 99 it Gy w1 ST W F g9rE Ut ? [1+1+1+1=4]
What impact do you think the Versailles Treaty had on Germany?
37I4GT/OR

YraTe 1 AN o SieH 3R fomaml o a1 g ugdr § 2

How does militarism affect the life and thinking of people?

Y9I-12 Y TUGT T TIET 9T TRFR & TE T HY TSl § ? [1+1+1+1=4]

How does tax collection directly affect government spending?
37I4GT/OR
ThR o ToTu ofsie o= STed) & 2 oie § il bl ==l ol bl STl © 2

Why does the government need a budget? Why are the taxes proposed

in the budget discussed?

Y9T-13  UEA W A HEH % AU TER I - dAEr wE gt
TRl ? [1+1+1+1=4]

What preparations would the government have to make in order to

conduct the first general election?
37I4GT/OR
gl 3TMH TS 3T & A6l 9 7 Thr ST o1 ?

In what way was the first general election different from the election
held today?
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U9A-14 ' GEYH Bid 7T, ST S § 117 59 e i UHES | [4]

“Resources do not exist, they are made.” Explain this statement.

34T/ OR

HEYAT R G STE9deh &, THHART |

Explain, the management of resources is necessary.

fdor : (3) 9T HHIF 15 T 16 4" ITUF I © | YA 99 H Tfeh
foehed ® | Toieh U39 W 5 3k aTmeifed § 1 (ST i S1fyerdq
IeE-HHT 700 I §)

Instruction : (E) Question Nos. 15 and 16 are long answer type questions.
Each question has internal option. Each question carries

5 marks. (Maximum word-limit of answer is /00 words)

ya-15  Afe IR e o anfoiferes Sl W freEw 981 W@, @ 951 @ 9
T T AT YT TS ? [5]
If the Reserve Bank of India did not exercise control over

commercial banks, what impact would it have on the money and
credit system?

3741/ OR

3T wissl H fafau fF 751 8 <91 § oIl ot /IO Fl SR SR el
A o1 STER B4 gU faf e o1 e ot §1
Write in your own words, how money becomes a unit for measuring

prices in any country and also becomes a medium of exchange on

which all future payments are based.

U9A-16  TRHIY 50 ¥ H 91l YA ThdM & ok § faf@e (8 gr=) | [1+1+1+1+1=5]

Write the destruction caused by an atomic bomb (any five).

3741/ OR

I GAEE | ST i gU Y o fafey (RiE gre) |
Write the experience of the public through public hearing (any five).
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: (%) Y HHI% 17 TS 18 ¥ S0 U39 © | I T3 | STk
fofehed © | Toeh Y9 W 6 37k 3TMeifed & | (ST ki SATehad
Yee-HH 750 = )

Instruction : (F) Question Nos. 17 and 18 are long answer type questions.

991-17

YI1-18

Each question has internal option. Each question carries

6 marks. (Maximum word-limit of answer 1s /50 words)

T TR AAfteR = € ? WeYifbe Ia%h Aaifesr =1 81, o
F1 BRI 2

What is universal adult franchise? What will be if there is no

universal adult franchise?

34T/ OR

TAeH W 1 R § ? YR § HagH S8R ! GHIfad hid diel e
1 U SHITSIT (hTE Gie) |

What is meant by voting? Describe the factors affecting voting
behaviour in India (any five).

[1+5=6]

TS o Al I 9UH BT (P B7) | [1+1+1+1+1+1=6]

Describe the functions of the Parliament (any six).

3741/ OR
TH Hfaem &t s #=&i g (FE 97) ?
Why do we need a Constitution (any six) ?

oooooooooo
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